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Section A
Question Answer Marks
number
1 Read the passages and answer the questions.
(a) What was Lysias doing before the arrival of Peison, and what happened [3]
when he arrived?
Lysias was entertaining guests at home [1]. The others drove them
away and handed Lysias over to Peison [1] and then they went to the
factory to make an inventory of slaves [1].
(b) éyw &¢ ... moinoeiv (lines 1-3): how did Lysias come to an agreement [5]
with Peison?
Lysias asked Peison to save him [1]; he said he would if the offer was
high enough [2]; he offered one talent of silver [1] which was accepted
[1].
(c) ATTICTAUNV PEV ... émapwpevog (lines 3-6)
(i) What was Lysias’ opinion of Peison? [2]
Lysias knew Peison had no respect for men or gods. [2]
(i) How did Lysias try to make sure Peison kept to the agreement? [3]
Lysias made him swear an oath [1] which called down destruction on
himself and his children [2].
(d) eigeAOwv €ig... wow (lines 7-12): what impression of Peison does [6]

Lysias create in these lines?

Give three examples, making reference to the Greek, which show

Peison’s greed, impiety, untrustworthiness, cruelty, heartlessness etc..

e idwvV Ta EvOVTa KAAET TWV UTTNPETWYV dUO, Kai TA £V TA KIBWTQ
AaBeiv ékéleuaev: Peison followed Lysias to see what he was
doing; as soon as he saw the contents of the money-chest, he
sent for two of his attendants to take them; this suggests
Peison’s desire for gain.

e 0Uy 6oov wuohoynoa sixev: The amount he took was much
more than agreed; this creates an impression of greed.

e ( Avdpeg dikaaTai: draws the attention of the jury to Peison’s

failure to keep to his oath; this creates an impression of
Peison’s impiety and untrustworthiness.
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emphasis on the details of the valuables taken; this creates an

impression of greed.

e £0e0uNV auTol £9odia poi dolval: Lysias begged him to give him

some money for his journey; this request emphasises Peion’s

determination to gain as much as he can.

e AYATTACEIV UE EQPATKEY, €i TO oWPa cwow: Peison told him he

should be happy if he saved his life; this creates an impression

of highhandedness.
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(e) Translate lines 13-16 (£€10001 &’ €uoi ... okéwnTal). [15]

Please write your translation on alternate lines.

1 ¢€10001 &’ €poi kai Meiowvi émTuyxavel MNA6RIOS Te kKai MvnaiBeidng €k

100 ¢pyaaTtnpiou ATTIOVTEG

2 kai kataAapBavoua TTpOg auTalg Taig BUpaIg, Kai EpWTWAIV OTTOI
Badilolpev

3 00 épaakev €ig T T00 AdeA@Ol T00 €00, iva kai Ta €v €keivn Th OiKiq
okEwnral

The passage has been divided into 3 sections, each worth 5 marks.
Please write the marks awarded for each section in the body of the
script, at the end of the section. Draw a vertical line through the text to
indicate where each section ends. Add up the sectional marks to give a

total out of 15, to be written in the right hand margin. Ring the total.

[5] All or Almost all of the meaning conveyed (as agreed at

Standardisation), with one minor error allowed

[4] One serious error or two minor errors, otherwise the meaning is

conveyed

[3] Most of the meaning conveyed, but several errors

[2] Half the meaning conveyed; the rest seriously flawed

[11 A minority of the meaning conveyed

[0] No elements of meaning conveyed; no relation to Greek at all

NB Consequential errors should not be penalised.
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) &€iT’, © oxeTAIwTaTE ... diknv (lines 1-7): How does Lysias make this [6]

an effective attack on Eratosthenes?

You should refer to both content and style and support your examples

with three examples from the Greek text.

Lysias directs his attack directly at Eratosthenes and highlights some of

his unsubstantiated claims

o W oXeTANITATE TTAVTWYV: strong language referring to Eratosthenes

o AVTEAEYEC PEV ... auveAdpBaveg O¢: pointed contrast of what he
said he was doing and what he did; an incredulous rhetorical
question

o OTe PEv ... €mTeidn O¢: pointed contrast between two situations;
sarcasm in these lines about Eratosthenes’ claims and his actual
behaviour

o AVTIAEYEIV QNG TOIG BouAopévolg NUAG atmoAéoal: emphasis on the
claim made by Eratosthenes

o €T 00i POVW €yEveTo Kai awaal MoAéuapxov Kai un, €i¢ 10
deapwTApIov atTRyayeg: contrast with what he actually did

. OTI M€V, WG PAG, AVTEITTWY 0UBEV WPEANTAG ... OTI O¢ TUANaBWV
ATTEKTEIVAG: again strong contrast between what he claimed to
have said (without result) and what he actually did; scorn directed
at Eratosthenes (oudév wEEANCAG ... XpNOTOG vouileabai)

o the use of @rig/wg @rigto throw doubt on what Eratosthenes says

o oUK oiel éuoi kai TouTolgi dolval diknv: Lysias directs this
aggressively at Eratosthenes, and links the jury with himself

(9) What makes Lysias so skilful a speech writer? You should answer with [10]

reference to the section of Lysias Against Erathosthenes you have
studied.

You may make limited reference to the passages on this question

paper.

Answers must be marked using the level descriptors below. The

following points are indicative and offer question specific guidance.
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Answer might include:

o his skill in simple and straightforward narrative
o his use of rhetorical techniques

o his ability to change the pacing of his speech
o his direct confrontation of the accused

Level descriptors

[9-10]

Comprehensive answer covering most or all of the points in the mark

scheme;

Highly perceptive response with detailed reference to the rest of the

prescription;

Argument incisive, very well structured and developed; technical terms

accurately and effectively used;

Sustained control of appropriate form and register;

Legible, fluent and technically very accurate writing.

[6-8]

Answer covering some of the points of the mark scheme;

Perceptive response with some reference to the rest of the prescription;

Argument well structured and developed; technical terms accurately and

effectively used;

Good control of appropriate form and register;

Legible and technically accurate writing, conveying meaning well.
[4-5]

A few valid points but some significant omissions;

Limited reference to the rest of the prescription;

Argument coherent if cumbersome or under-developed; some technical

terms accurately used;

Basically sound control of appropriate form and register;
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Legible and generally accurate writing, conveying meaning clearly.

[2-3]

Limited response;

Little or no meaningful reference to the rest of the prescription;
Argument coherent even if very cumbersome or under-developed;
Simple technical terms used appropriately;

Basic control of appropriate form and register;

Legible and generally accurate writing, clarity not obscured.

[0-1]

Work in this Band may meet some of the criteria for the Band above, but

on balance falls below the standard defined for the higher Band;

Alternatively, work in the Band will be too inadequate, inaccurate,

inappropriate or irrelevant to justify any credit in a higher Band.
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2 Read the passages and answer the questions.
(a) What has Apollo been doing just before this, and why has he appeared [3]
here?
Apollo knocked Patroclus back from the walls of Troy [1] and finally told
him to abandon his attack [1]. He came to prompt Hector into action. [1]
(b) Translate lines 1-5 (Ta0T1’ @pa ... Zayyapiolo). [15]
Please write your translation on alternate lines.
1 1a0T1" dpa oi ppoveovTi TTapiaTato PoiBog ATTOAAWY, AVEPI EITAPEVOG
ailn TE KPATEPW TE,
2 Agiw, 6¢ unTpwg NV “EkTopog itrmodapolo autokaaiyvntog EKApng
3 uidg B¢ AupavTog, 66 Ppuyin vaieake pofg £ Zayyapiolo
The passage has been divided into 3 sections, each worth 5 marks.
Please write the marks awarded for each section in the body of the
script, at the end of the section. Draw a vertical line through the text to
indicate where each section ends. Add up the sectional marks to give a
total out of 15, to be written in the right hand margin. Ring the total.
[5] Correct translation (as agreed at Standardisation), with one minor
error allowed
[4] One serious error or two minor errors, otherwise the meaning is
conveyed
[3] Most of the meaning conveyed, but several errors
[2] Half the meaning conveyed; the rest seriously flawed
[11 A minority of the meaning conveyed
[0] No elements of meaning conveyed; no relation to Greek at all NB
Consequential errors should not be penalised.
(c) “ExTOp, ... 0X0¢ ATTOMWV (lines 7-11): what tone or tones does the [6]

speaker use here to persuade Hector to return to battle?
Give three examples, making reference to the Greek.

TITITE pdyNg atotrauveal; brevity - he questions abruptly why Hector has

ceased fighting
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oud¢ Ti oe Xpn: he tells Hector he should not have stopped
ai6’ 6oov Roowv eiyi, TOGaov aéo PEpTePOG €inv: flattery

TQ KE TAXQ OTUYEPWG TTOAEPOU ATTepwnaeiag: he taunts Hector to get

him back into battle
GAN" dye: he adopts a more encouraging tone

ai kév TTWG pIv EAnG, dwn 8¢ Tol eUxo¢ ATTOAAWV: more encouraging,

suggesting that Hector can be successful against Patroclus.

(d)

w¢ eimmwy ... 6madev (lines 12-16): what do Apollo and Hector do in
these lines?

Apollo leaves through the sufferings of men [1]. Hector calls to
Kebriones to whip his horses into battle [2]. Apollo entered the fray [1],
directed evil confusion on the Greeks [1] and gave glory to Hector and

the Trojans [1]

[6]

(e)

TOV &' OAIyodpavéwy ... Aiakidao (lines 1-12): what makes this passage

moving?

You should refer to both the content and the style of the Greek and

support your answer with five examples from the Greek.
oAiyodpavéwv: strong word indicating Patroclus’ weakness
MartpdkAeeg itrred: Homer addresses Patroclus

ooi yap £dwke: Patroclus claims victory was given

ZeUg Kpovidng kai ATToAAwv, oi pe dapaaaav pnidiwg: Patroclus claims

he was overcome by the gods (emphasis on pnidiwg)
auToi yap &t wpwv Teuxe €Aovto: the unfairness of the final battle

€l mép pol €gikoalv avreBoAnaav: Patroclus claims he would have won

against 20 such men as Hector, if the god had not intervened

poip’ 0Aon kai AntoUg ékTavev uiog, avdpv & El@opRog: au &€ pe
TpiTog: Patroclus emphasises Hector’s limited role

o0 Bnv oUd’ auTdG dnpodv BEn: Patroclus prophesies Hector’'s own death
AxIAfog auupovog Aiakidao: in his final words, Patroclus speaks the

name of his closest friend.

[10]




F372 Mark Scheme June 2011
Question Answer Marks
number
()] In the lines that you have read of /iad XVI, how does Homer make the [10]

combat scenes exciting?

You may make limited reference to the passages on this question

paper.

Answers must be marked using the level descriptors below. The

following points are indicative and offer question specific guidance.
Answers might include:

. discussion of combat scenes, such as the battle over Sarpedon’s
body, Patroclus’ ambitious continuation of the battle (against
Achilles’ instructions), the intervention of Apollo (on the walls of
Troy, outside the Skaian gates, at Patroclus’ final combat), the

confrontation between Hector and Patroclus etc.
o the use of poetic devices, such as similes
o the intervention of the gods in the killing of Patroclus

o the exchange of words between Patroclus and Hector.

Level descriptors
[9-10]

Comprehensive answer covering most or all of the points in the mark

scheme;

Highly perceptive response with detailed reference to the rest of the

prescription;

Argument incisive, very well structured and developed; technical terms

accurately and effectively used;

Sustained control of appropriate form and register;
Legible, fluent and technically very accurate writing.

[6-8]

Answer covering some of the points of the mark scheme;

Perceptive response with some reference to the rest of the prescription;
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Argument well structured and developed; technical terms accurately and

effectively used;

Good control of appropriate form and register;

Legible and technically accurate writing, conveying meaning well.
[4-5]

A few valid points but some significant omissions;

Limited reference to the rest of the prescription;

Argument coherent if cumbersome or under-developed; some technical

terms accurately used;

Basically sound control of appropriate form and register;

Legible and generally accurate writing, conveying meaning clearly.
[2-3]

Limited response;

Little or no meaningful reference to the rest of the prescription;
Argument coherent even if very cumbersome or under-developed;
Simple technical terms used appropriately;

Basic control of appropriate form and register;

Legible and generally accurate writing, clarity not obscured.

[0-1]

Work in this Band may meet some of the criteria for the Band above, but

on balance falls below the standard defined for the higher Band;

Alternatively, work in the Band will be too inadequate, inaccurate,

inappropriate or irrelevant to justify any credit in a higher Band.

10
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